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4 (Sem 2) CAFE-1L
2014

COMMUNICATIVE AND
FUNCTIONAL ENGLISH

Paper : 1
full Marks - 80
Time : Three hours

The figures in the margin indicate full marks
for the questions.

. Choosc whether true or fulse. 1%10-10

() Communication skill makes and mars the
difference in success and failure.

(b) The flow of communication in an -
organisation is not a continuous process.

(¢} Our scnsory preceplors are unlimited.

() Communication helps man to satisfy its basic
cmotional needs.

Contd.



(e) Positive personal attitude is not important in

devcloping communication skill. ‘
¢ i ; :
) Mention fwo ways in which communication

) Inwritten communication, effective listening can be tmportant for busincss.

1s vital. ' . B !
(d) Why is ‘listening” an important
communication skill ?

(g Demographic {actors in an audience 18 not
fe)  What is Informal Communication ?

measurable.
(h) lmproper {iming in communication acts as a 3 A
- - nswer '
barricr. P wer any four out of (a), (b), (c). (d), (e) and
> 5)(4__20
(i) In communication the ‘chain  of @ TFill in
: . : the blank i :
understanding” has no rciation to the “chain prepositions ; s with appropriate
of command’. : _ v 1 x5=5
() D C. Boraexcels . dancing
() Unlike lax, f:-mail system docs not provide i) Tl o
- ¢ godown is infested
: — . rals.

the advantage of storage of message in the
memory. (iif) India’s wholesale price based inflation
f,c” 4-68 per cent in

7 Answer the following questions 2x5=10 February, 2014.
(q) What is ‘communication” ? ' ) :1::2‘11323 ?gll;l;ltlerthz Sctgli((ial?nbalrglg

(h) What 18 ‘encoding’ in the process of a discount of 10 per cent.

communication ? s !
| (v) India’s cconomy is expected to pick
in the next two financial

4 (Sem 2) CAFL -G 2 ycars.
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(b)

Fill in the blanks with correct tense of the

verbs in brackets : [x5-=5

(¢} The Filmfare trophy, the iconic Blank
lLady (unveil) in the
presence of Jitesh Pillai.

(i) Assam (lost) over 20 rhinos
to poachers in 2013,

(iii) The locals (agitate) when
the DN Chilarai Express hit a car at
thc Bondapara unmannecd level
Crossing,

(iv) With the stage set for Lok Sabha polls,
hectic politicking _ (begin).

(v) Mahasweta Devi ____ (become)
a legend in her lifetime.

Change the voice of the following : 1x5 5

()  Promiscs should be kept.

(ii) The State Government has declaved
March 17, 2014 as a local holiday for
‘Holi’,

(iti) He was refused admittance.

(iv) Do not insult the weak.

4 (Sem 2) CAFE-UG 4

(d)

(¢)

(v) The road was lined with people.

Correct the common errors in the following :
1x5=5

(i)  Whom do you think won the prize ?

(ii) Bill Gates is the most rich man in the
world.

(iii) e is rather good in maintaining
accounts.

(iv)  You did not reply our cnquiry.
(v) 1ll¢ hardly sat down than the phone
rang.
Rewrite the sentences as directed @ 1x575
(i)  Their glory can never fade.
(Tirn into Interrogative Sentence)

(ii) O that I were young again !
(Change into an Assertive Sentence)
(iii) tlc must not be late, or he will be
punished.
(Change into a Simple Sentence)
(iv) He confessed his guilt.
(Change into Complex Sentence)

4 (Sem 2) CAFE -G 5 Contd.



(v)  To his disgrace, he betrayed his friend.

(Change into a Compound Sentence)

(/) I'ramc scntences to ilustrate the use of any
five of the following phrases : 1x5=5

Order of the day, gift of the gab, from hand
to mouth, takc cxception to, on and off,
within an acc of, losing ground.

4, (a) Answer any two of the following :
10x2-20

(i} Discuss the idca of “Noise’ in
Communication.

(i) Discuss the cssentials of good Busingess
Writing.

(iii) What arc the different types of
‘Audience’ to consider in
‘Communication’ ?

(iv) Discuss the clements of a
Communicative Process.

(v) Discuss Non-Verbal Communication.

4 (Sem 2) CAFE LG 6

(h)  Answer any two of the following :

(i)

(ii)

(iii)

(iv)

10%2-20

Draft a request letter to the SBI,
Panbazar Branch, Guwahati, Assam for

a vechicle loan.

You arc Ashok Das, Manager Rajiv
Llectronics, G. S. Road, Guwahali.
Write an order letter to the
manulacturing unit, Thompson
Llcctronics for 50 1..G. Refrigerators

ol different capacity, sizes and colours.

Write a letter to the cditor of a local
daily cxpressing your views on the lack
of civic sensibilities of students in the

college campus.

You arc the PRO of an oil company.
Write out an c-mail to thc board of
dircctors notifying them about the
AGM (Annual General Mecting) at an
appointed date.

4 (Sem 2) CAFE-1/G 7 Contd.



Or

Write an application to the Managing
Dircctor, Shanti Udyog Limited, A. T
Road, Guwahati for the post of
Production Manager as advertised in
the local newspaper.
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4 (Sem 2) FACT
2014
FINANCIAL ACCOUNTING I1
Paper : 202
Full Marks : 80
Time : Three hours
The figures in the margin indicate full marks
for the questions.
. Answer the following as dirccted : 1x10
f wegEst Ted g

(i)  Select the accounting standard apphcablc to
valuation of inventories from the following
options :

s TResd o) SErosiay JEiEe <1 Al
fasiel v Al Slere ¢

(@ AS-1
el
() AS-2
TG-2
(c) AS-6
TYAF-6
(d) AS-9
. WeEE-9.

Contd.




(ii) In cash [low statement donation is classilicd
as :
asiv Bei fagfoe Refie WOsi@ (ol
ATSien w9l T2
(@) Financing activity
A8l wrf
(b) Investing activity
s i
(¢) Opcrating activity
izt =y
(d) Philanthropic activity
ey I |
(i) In ‘branch accounting’, goods sent to branch
account is transferred to the credit of

‘giee Bpiel AR =ATE (@R w WoRe
(ATST BheE (@ oble ZMEd I WY

(a) Profit and loss account

SRR 251
(b) Purchase account
=7 fpiA
(c) Sales account
e feotel

(d) Inventory account
srgoeiely 25t |

4 (Sen 2) FACY/G 2

(iv) Which of the following profits is considered
for valuation of goodwill 7

AR YFNE AW WeEE @i -
ok 05! #11% fRrama

(@) gross profit
?@7 (gross) =®
(b) net profit
YT (net) o
(¢} total profit
Y Ao
(d) operating profit
PRIES 3 |
(v)  AS-21 rclates to :
AS-21 [Feate @it frnm wire Glve s

(1) Revenue recognition

qAErE TS

(b} Consolidated financial statement
ralge [FER e ()

(c) Accounting for amalgamation
FeYfean Boeiy as

(d) Accounting for fixed assects
R e fEpre aee

4 (Sem 2) FACT/G 3 Contd.



(vi) Branch stock account is always prepared at

g Tepeetey 851 T FCRIG CRRGT T1S
oS F9 WY
(a) inveice pricc
Blene (invoice)
(b) . retail price

4ol 3

(c) wholcsale price
AR 0

(d) cost price
G |

: . \ branch
(vii) Normal loss 15 not shown in the branc

account under :
e (@Rl AEfed SHAT HILE (b
Yl fBpIeie (7499 T2
(@) debtors system
- EAME S
(b) stock and dcbtor system
TG S (AR S
(c) final account system
7o fEpia 2%l
(d) hybrid system
TR P |

4 (Sem 2) FACT/G 4

(viii) Indian Partnership Act was enacted in the

(ix)

4 (Sem 2) FACT/G 5

ycar ;

s @) sae RS wroTm) EIED|
(Indian Partnership Act) Rfdem =41 =7 ¢
fa) 1922

(b 1932
(c) 1942
() 1952

Balance in Realisation account in gz
partnership firm is transferred (o the capital

~accounts of the partners in which of the

following basis ?

<fs SIS s Realisation B5o <
Sy Frvlie (Mol feme Siaes s
e [Eb19i0sT B etz

(@) sacrificing ratio

SSRGS
(b)  gaining ratio
G Ssie
{c) capital ratio
SEEH e AS
(d) Profit sharing ratio
STSTEIEGI A5 SRl |

Contd,



2.

(x) A partnership firm can be diss

olved under
' following circumstances ?
g}r];g Oc;g;ﬁﬂfzrﬁ%\ﬁ a5 ST BErE
e = AR
(a) quarrcl among the partncrs
s Were el
(b) insanity of onc of the pirtncrs
qo s Sew B
(c) order from the munici[/)ality
(o GoPd o W
(d) existence of a dormant partncr
aEA HY AR 4 (R |

ing in bricf : 2x5=10
Answer the following m bricf :

Cirnie GwE 5 Ted fnhl ¢
(i) Comment on the following statcments -
i

firre B R s el 2

shi m and
Dissolution of partnership {'n!n axis
“ dissolution of partnership

(b)  Goodwill of a firm represents the
cxcess of real net worth of assets over
their book value. 2
TR AU BT FNE T (real
net worth) ¥$T 7 W< 781G 26l S
qee dfcwfre 31

(¢} The average profit method takes nto
account the abnormal profit or loss arising
during the course of business, 2
T PRI @ el we
EIRBIS 91T e “fmfo Rrvar o |

(i)  State the basic accounting assumptions under

AS-1. 2
AS-1 o7 SIS N BN arRemigz S
&9 | '

(iii) What is the treatment of bad debt under
dcbtor system of branch accounting ? -

(a1 AGfs SpA g% Rtore SrwRT Wow
feb1eTla areg 1 gaery

Answer any four of the [ollowing : 5x4=20
NesTe Ricme sifar Bew Bt o

(@) Discuss the salient features of Accounting

SYNONYMOUS. g Standard AS-9.
= e wdEfe o Sen wIF 14 - Accounting Standard AS-9% PRIRGIE It
i .
ey AL &) SEBAT 34|
4 (Sem 2) FACT/G . 1 Contd
6
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(b) State the objectives of branch accounting.

(c)

(d)

qi%e 519 TR SrerTIRE S 9 |

A firm’s normal return is 15% of its net
asscts. The actual profit earned by it is
Rs 75,000. Its value of nel assets n
Rs 3,60.000.

What is the value of goodwill under

capitafisation of average profit method ?

S @B 9 e 15% FeiRE return
(STG 1) 220 | 3T 4 &1 25 75,000 Tl
i g AAGR 4o €A 3,60,000 51 91
#Thed YFLNI49 (capitalisation of average
profit) #wfs SEpiA ise s fm 23

x and y are partners in a {irm, sharing profits
and losscs in the ratio of 3 : 2 respectively.
They decided to dissolve the firm. Following

1s the balance shecet on the date of dissolution.

31 2 YEANGY FHISEIRGIN S9iE (FAIIE 5 x
Bl y GO ST RS Stz | (SSEITE
ETHIEE SR Prals 2% 0 | S
wifds Spe Bge fFfere wew frl 279 |

4 (Sem 2) TACT/G 8

Balance Sheet

Liabilities (7! Rs | Assets Fffg Rs
Creditors #fgaTaig 20,000 | Cash at bank 10,000
Capilal accounls : e {Z51 L]

x 25000 Debtors 15,500
y oS00 30000 | TR
fess provision 3,500 12,000
wepalsdn < 4
fnventory 28,000
EE
50,000 50,000

The asscts realised arc as lollows :

Debtors Rs 10,000 ; Inventory Rs 18,000;
Goodwill Rs 5,500. Realisation expenses Rs 1,000.
y brings in nccessary cash to mect his deficit.
Give journal entrics in the books of the firm.

Yol AP o= 2ie 4 were sy o9 ¢

iR 10,000 521 ; Seresier 18,000 B ;3R 5,500
Bl ; ST <l 251 £,000 5| y o eicaiea w6

4 ST (98 [Zb1944 B 7j=es A< |
SEE 430 Sl 2 |

4 {Sem 2 FACT/G -9
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(¢) Discuss the procedure of preparing a foreign
branch account in the books of head office.
(2G fF5q 481 @ qiwe Zyie dwe arm
Aals SNCAG G4 |

() Give an account of International Accounting
Standards Board.

International Accounting Standards Board 3

fer @By 3 fear

4. Answer the following questions : 10x4--40

frsre =wg S Tyl ¢

(@) Iilaboratc the process of issuing JFRS.

IFRS 2/ i Rferssel (issuing) 3 #1afs 42312
ferany

(b) The balance sheet of Karna, Arjun and Bhim

on 31st March 2013 who are in partnership
sharing profits and losscs in the ratio of
3:1:1is as follows :
31 %015 2013 SIRYS &, S sRe SN 3 ;| ;1
TS FASEEE BifE FIRE 596 SeThas
BIRAINS 4B W07 ; (PSR Ty (oo (%
wif4uy wers fual 24 ¢

4 (Sem 2) FACT/G 10

Balance Sheet

Liabilitics #figeelq Rs Assets T Rs
Creditors AMsmA 7000 | Cash at bank @5 7% & 4,500
Bills Payable 91 Rat 3,500 | Motor car 953 1R 25,0
Contingency Reserve | 8,000 | Debtors (Fellits 13,000
e A Machinery %@ 21,000
Mortgage on Building 11,000 | Furpiture SHaReAG 17,000
T oo afugfe Inventory o7l 9,000
Capital Accounts : : '
e T ¢
Karna 22,000
Atun 20,000
Bhim 18,000

89,500 89,500

On Ist April 2013 the firm is dissolved. The
asscts realised arc as under :

Decbtors Rs 11,000 ; fumiturc Rs 18,000 ;
inventory Rs 8,500 ; Motor car Rs 22.,000.

4 (Sem 2) FACT/G 11 Contd.



2013 b9 1 @ive $ifie i@/ S 90 |
Frere srife [ o) cohiar 971 o9 3

eTlATE 11,000 B9 SI6ARst@ 18,000 B4,
wEoHey 8,500 Gl WG4 SIET 22,000 T |

Machinery was taken over by Karna and

Arjun at book valuc.

Realisation expenses Rs 400.

2 I wgE s @8t A e s

PL|

SRETRE R e 400 59 )

Close the books of the firm by preparing

necessary ledger accounts.

FIIT 2517 42) 95 TR F10S Ay e

f&p1of erw i |

() Discuss the manner of piccemeal
distribution of procceds when a
partnership firm goes into dissolution,
STV FE€E 9B WAy B 0E
SIS Gl I S Al e e
fea a9 ol wicensar @ |

4 (Sem 2) FACT/G 12

(0

(i)  Discuss the procedure of settlement of
accounts when one or more partners
arc insolvent. 5+5=10

e A T wofa 8T e
fevieit pote fifgeaas sigfs e
4 | |

Shan Lid. invoices goods to its Mumbai
branch at cost. Prepare necessary ledger

~accounts m the books of the head office

under Stock & Debtors system from the
following information -

Shan Ltd. @ Mumbai =i<i7s GFALTS B]
AN (oot T | FrEe wUHAiRe s head
officcT 4818 Stock & Debtors i)
ARG foun 2p1el etwe a9

Opening balance : sigafe EIEE

Stock Fere=(ay Rs 10,000

Debtors (w9 Rg 14,000

Cash @5 47 Rs 400

Goods sent to branches Rs 30,000

*[RICT czfde AN 30,000 Get

4 (Sem 2) FACT/G 13 Contd.



Goods returned by branch Rs 3,000
14 gaiE fral Aedl 3,000 Bt

Total sales (of which Rs 30,000 was cash
sales) Rs 53,500

39 B& (@ 30,000 5 25 7o KEl) 53,500
G

Bad debts SW@RAM 44 Rs. 900
Return from customers Rs 1,000
sl gaiz g AWE 1,000 5l

Cash remitted by branch Rs 46,000
AT (2o w4l anm & 46,000 TS
Other expenses of the branch Rs 6,000
X< WA 445 6,000 B

Abnormal loss ®ieidE GEIFGH Rs 2,000
Cash remitted to branch Rs 4,500
xpairet (2R W 4 4,500 5

Closing balance : A= 912 3

Stock Wge#4) Rs 8,000

Debtors (veimig Rs 15,000

4 (Sem 2) FACT/G 14

(d) The following is the information relating to

two departments of a business house

BT I 2fS0e 181 [Reisl e Frare
seelife il we ¢

Purchascs of Rs 52,000 includes purchase
for sales department 1,000 units ; production
department 2000 units.

52,000 591 @M f$e9 Sales department
A 1,000 units (¢31l5) & 1% production

department < <l 2,000 9% @7 MR @il
Bl )

Opening stock SR wgeoiey 2
Sales department @] 19@ist 120 units (¢515)

Production department Beoiua &eisl 80 units
(115

Sales /& 3
Sales department &&) &4l 1,020 units ((5115)

Production department Seotine Fels 1,920
units (¢ii5)

Selling price per unit : (¢445 =S fgaser) ¢
Sales dcpartmcntﬁﬁ f9®lst = Rs 20 each

4 (Sem 2) FACT/G 15 Contd.



Production department Beoive f=iaf ~ Rs 22.50
cach

The rate of gross proﬁt is the same in cach
casc. '

Rent of Rs 4,000 is 1o be apportioned in the
ratio of sales.

Prepare departmental trading and profit and
loss account of the business housc. '

o |

4,000 B9 TG 4% (2171 4 (&9 SRS
2% e A0 | N SEPIE ol
S(EARRGH {25ie 2ge 1 |

4 (Sem 2) FACT/G 16 11000



lotal number of printed pages--15
4 (Sem 2) PRMN
2014
PRINCIPLES OF MANAGEMENT
Paper : 203
Full Marks - 80
Time : Three hours

The figures in the margin indicate full marks
Jfor the questions.

Answer either in IEnglish or in Assamese.

Answer all the questions.

(TECE e Seq Bad ).

1.  Choose the correct option from the f{ollowing :
1x10=10

frsie Tepnza [l wa Se! Az SRed ¢

(a) Organisation that denic¢s tcam work is known
as

R AN oT191S PP | TR B (O TN ITE
fFtsle (! AR S AN 2

Contd.



(i) [carning organisation
i SR AN
(ii) Virtual organisation
. SRR AN
(iii) Project organisation
R TR
(iv) Matrix organisation.

ol TGV

o is not associated with

(p) Name the author wh
vation :

human resource approach 10 moti

(i) Douglas Megregof
s R
(i) A H. Maslow

Q. «3y. G

4 (Sem 2) PRMN/G

(iii) Rensis Likert
A i
(iv) Elton Mayo

>

organisati
. 10ns t
8 to assume socjz] responsibij
' 1011ty

R 2oy

b < 2 ﬁf%’m

?:ng AT 373 W” e g
SGRCE EF I e

(i} Political power
Atafon
(ii)  Social power
FrsTiers =Ifes
(iii) FEthical power
e =ife
(v) Legal power.
GRS s |

3
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(d) Informal Communication s characteriscd by

which of the following distinctiveness.

R G RS (FH! TAME
3 TGS WA Aifd |

(i) Task oricnted
=+ 14

(ii) People oricnted
=5 2

(iii) Position oriented
7w 13

(iv) Strudturc oriented.

sfel@ TR

4 (Sem 2) PRMN/G 4

(e)

goal is called

WA R '
e w7 e 21 g1 o
ERIR

RCRIS ot A s

(i) Strategic plan
LG iz
(i)  Tacticai plan
(FEsle e
(7ii) Operational plan
PRGN 1R
(7v) Standing plan, |

4 (Scm 2) PRMN/G
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() A plan for job design which satisfies

(8 Who sugg
CS1c i i .
employces” need for recognition is known and i S od equitable division of work
N responsibility between management ai
' labour ? Tt g
R wfeme sifERE SRR Figot SR _—
BT Sl
g% (3 OF FURIG (FRC! A Sl i W Rl Mers ity o
- | 9 TR A e

(i) Job simplification T o _
() Henri Fayol

3 FE P

AR wem
i) Job rotation -
( ) ﬁl) F. W. Tayl()r
s SRS

9. GIfFE. (b

(iii) Job enrichment (i) P. F. Druker

o S . @, (g

vl Job enlargement. ; S am
(iv) g (iv) G E. Mayo.

& sfffREA | &3 o)

4 (Sem 2) PRMN/G 6 4 (Sem 2) PRMN/G
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(h) Which one of the following 1 not an clement

of Ficdlet’s contingency theory ?

e (OFH! B TSI © g S
CELE

(i) I cader-Mcmber relation

G- oo

(ii) Task-Structurc

z( el

(iii) Position-Power

TS

(iv) Perception.

#igell |

4 (Sem 2) PRMN/G 8

(1)  Cas '
ash flow is an example of

RRLRCE| '
| GRS i R C——
(i) Opecrationaj Contro]
P forzgel
(ii) Managerial Conro]
ARl R
(iii) Tinancial Control
e farege
(iv) Strategic Contro]

P R

H{(Sem 2) PRMN/G
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s of n
the following aspects of huma
| over

;) Which of .,
O) lifc may be adverscly affected OWIDE 0

Stz SRETE G TOE 7
@l RCH! e afege SR ¢

AN
(i) Personal life
feaTs G
(ii) Family life
s SA
(iii) Mental health
AP Y

(iv) all of the above.

oiare TS AR

. 10 -
4 (Sem 2) PRMN/G

2.

Write short answers on the following : 2x5=10
Feare Renpe esme 57 Seq fora ¢

(a) Give two reasons why Fayol’s thcory has
wider applicability compared to Taylor’s
Scientific management.

@%«WWW@W&@@%&
w%mmwwﬁmw;w@
TR TrE 4|

{b) Name two stratcgies suggested by Michacl
Porter to Counter Competitive forces.

ﬁﬁmfﬂ@w@*ﬂwmwmﬂ
BN d@ie 75 e S |

(c) Give two cxamples of tangible and Non-
tangible planning premises.

AT AR ~ofiTy s sy
SO 15! Tl |

(d) Mention the problem of dual accountability
In matrix organisation.

G Msrove Biers (N HIETTOIE TR
T <91 |

4 (Scm 2) PRMN/G 11 Contd.
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(¢) State two driving forces of change in the
organisation.

apeottiTe ARG (B Bfereries WEIb 41!

Answer any five of the following : - 4x5-20

RiwE (@3 (73 2Abbre Ted < 2

(@) Programmed and N0n~programmcq decision.
wr oRefre s wryf weifRafe PR

(b) Refreczing as a process of planned change.
il sfiadm sifenl o ReTTesTR |

(¢) Forms and Merits  of  diagonal
communication.

IR RIS 2RI S PRI

(d) Four advantages of projcct organisation.

(e) Four ways 1o overcome barricrs to
delegation.

iy Sl itz SR 7Dy Got el

4 (Sem 2) PRMN/G

0

Distinguish between planning and
forecasting,

RN SN oifemama e sy B |

(g) In what way do psychology and sociology

contribute towards management process ?

WfEE S sEeRam Ry ﬁﬁm
(RSN Bul SoRG1E Ty |

Fxplain the process of Management by objectives

How docs it work for the bencfits of individuals

and the organisation ? 10

Sl ARBITIR elfeFat seicE w411 3 gfe
Sl RO HLRA A (O 4106l R 1 Bl

Or/ wiEqy

Outline the contribution of Peter F Drucker in the

development of management thought.

ﬂﬁsramawxwr%ﬂﬁﬂrﬁﬁﬁwcm@@«mm
CES ) |
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|

Draw a chart showing functional departmentation
and outline the advantages and limitations of such

departmentation. 10

oo Roriaed g3 @ifba o F4 WS S0
a1 GrelTeEeR o[l SwE R iR WiE
REFSHYE SN T4 |

Or /AT

What are the possible grounds of conflict between
line and stafl in a Linc & Stalf organisation ?

How would you resolve such conflicts ?

aﬁﬂ@WWﬂzﬂmﬁiﬂmW<ww
Sl FBIE) FIEHZ ST | GG TGS
wfil @ PR S ol |

Explain the four styles of leadership developed
by Rensis Likert and recommended the style you

consider the best and why. 10

@5z Tl Tued T (PSS wﬁﬁ;rwsw GIE)!
<5t S FPHITS ikl T B 2 I AR
e ot

4 (Sem 2) PRMN/G 14
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Or/ 3=

Felfen el Fae Eﬁ@%onmg@ TaH]

G S Sl F50E @3
S AR FoArE
AT Restael SoRepRT |

Explain the : |
xplain the terms Feedforward control and

l'cedback contr )
ol. Also specif : )
application, pecily arcas of thcllr
0

Il st o1 Sislare R e TG

950 fet2ll ( eiice G5 43
P | MR R fefed

Or / 1331

Fxplain :/;cro Basced Budgeting and Standard Cost
as techniques of modern day controlling system

oligleid leid fmet oifmaig @i 2
QU0 G4 Nield AT GG B W fefe

11000



Total number of printed pages -11 )
4 (Sem-2) BUST

2014

BUSINESS STATISTICS
Paper : 204
Full Marks : 80
Time : Three hours

The figures in the margin indicate full marks
for the questions.

Answer either in Inglish or in Assamese.

Answer question numbers I, 2 and 3 and
any four from the rest.

1, 2 S 372 2e TwY fAlRAT S < 2Etals
s/t 7 ¢t bif<nr Ted ffea |

1. (i) Mention ore limitation of statistics. 1

Al R b AaRms! Srgd 4 |

Contd.




(i) Fill in the blank :

& 31 AR
Sample is @ ———— of the population. 1
e 2 T 51w |

(iii) Choose the correct answer - 1

w Geq o 341 8

(@ 0, =Median ()
(b) O, =Median

(¢) O, =Median

(d Dy =Median
(v) I the standard deviation of the
SEries Xy, Xg,-or x 18 O, what is the

standard deviation of the series

4 (Sem-2) BUST/G 2

(@) Coincident (AR}
(5)  Paralje] .(WF\'B'@E’{)
(c) p '
ctpendicular o egehy other (
B Cr (7fg7oig
Vi Fill in the blank | )
A= i3 |
T 1% iy |

Laoy,
grangce’s inge
no &r

Tee———

polation 1

n for

ormuly ph
as

W — T
A SIS0 1w gy

worg
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(c)
. heads

i f getting two

. it l_hc probablllly (4]

(viii} What 1s

Two Coms are lossed

Contd,

If X denotes the
. o 1 numb(?r. of. hffads' obtained, find the
uniform coins are to probability distribution of z
when two G (A
s eofaten P R 91 ¢ 20T R Bt 1 211 o g
@ng%w‘? S TSI 15 Ty o v o
Lol ' . TIGS! 3G el <pa
1
_ andom variable.
(ix) Define ran ‘ (@) What is leve| of significance ? 2
g Sevees et f o wy i
LTSl B
. : l
ion the two paramecters of bmomlal
() Mention the o ution. - () Define probability distribution of random
probability distri Sl 4 variable, 2
©f 35+ 2lbeT 71 '
fastw Tl <1 Ao 5o757 Afiet e @ o
2
: data ?
2. (a) What arc primary 3. Answer any four parts of the following -
. o ? Sx4=20
cifers o2 & | |
. ST RICBIT 5195t e TeT e
he empirical relationship alnong
“(h) Write down the de (@) Write a note op the importance of statistics
median and mode. : .
mean, In commerce.
w1 LR G SRITIETT 1L wﬁm@ﬂfwewﬁ@mawwmm@m
e, e | fora
foral |
b)  Wriie ¢ note on pie diagram.
G A =113 g symmpgas BT BIet fort |
4 (Sem-2) BUST/G 5
% .
T/G
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(¢c) Of a certain distribution. the Karl Pearson’s
coefficient of skewness is 032, standard
deviation is 6-5 and mean is 296, Find the
mode and the median of the distribution.

BT 4G et Tz SRy s 0-32,
s [{5eT 6-5 I A 29-6 | ITACHI TTo70
EF WG [Fefy |

(d)  Writc a note on Karl Pearson’s cocflicient
of correlation.

el TOICD 2om Gl Soviefe @By (Brs)
ferary

(e) Trom a set of 20 marbles marked 1, 2, 3, ...,
19, 20, onc marble is drawn at random. What
is the probability that its number is a multiple

of 2 or 52

2051 TS 1, 2,3, ..., 19, 20 — qCawcd g
WWI&?W?@T@WWW
S 2 | Bifel S 2 B @ vl s 2
57 sfies @RE AsiEer B o
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() What do You mean by statistical quality

control ? Discusg the causcs of variation in
quality.

AP eeney el I B gat 2 wasrs
fvgere PIPTZ WTEIs 5y

4 (a)  Caleculate mcan and standard deviation of
- the following distribution -

S ABABN ey iy S e ety s

Agce (in year) : 20-30 3040 4930 30-60 60-70 70-80 80-90
R (I59)

No. of Persong 3 6l 132 153 140 3 b
2T A=y 3+4=7

(h)  Mention nwe advantages of sample survey

OvVCr census survey, 3
FoRRT onafeq VS St »mfeg 71 Jfda
Tl 39 |

4 (Sem-2) BUST/G g . Contd



%

(a) Calculate the coefficient of correlation

between x and y for the following data :

&eTo [l ©UR A x WEF y T WS AT

@aies o w4 6
x 9 8 7 6 5 4 3 21

y 15 16 14 12 10 13 11 8 9

(b) Txplain the concept of regression. 4
FEARAFER LRACO! Iy |

(a) What is a time series ? Discuss briefly the

different components of time series.
1+5=6

e 6 2 Pl [fom Soerae ol
I 1 |

(b) Write a brief note on the limitations of index

numbers. 4

oI AITS! Fo G5 5 it farai |

(a) Statc the Additive Law of Probability for
two mutually exclusive events and cxplain
it with an example. 2+4=6

WOl A<e~ig afere <Ga A Teifdeis st
HALH! Tl SiF By BRI AN 1 |
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(h)

(@)

(b)

In a business a man can make a profit of
Rs. 2,00,000 with a probability of 0-4 or
have a loss of Rs. 1,00,000 with a probability
of 0-6. What is his €xpected profit ? 4

G R 9B TS 04 Srwirer
2,00,000 B=1 eI 29 SAi3 71 -6 ARG
1,00,000 WWW%!W

YRy
A w27 Sfrea -

What. is . Poisson probability distribution 2
Mention the properties of this distribution,
2+4=6

BT WISt 757 ? I 359 45719 S
41

The probability that the student of a night
college will be a graduate is 0-4. Find the
probability that one student out of 5 will be
a graduate, 4

T SRR Qi qor 2 WeT (2
Bifeel 0-4 2T 5 G RIeR foeTe wom [rosw
(1T it Bfenaq |
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9. '(a) Calculate cost of living index number from
the following data assigning the given
weights :

TS il U o &G B Sl fE Slaw
iz < el wiSsiem 4l

Group of items

Food items
g AN
~ Clothing
R
FFuel

EET

House Rent

¢ o9l

Others
SIS

4 (Sem-2) BUST/G

Group index

150

280

180

300

210

Group weight
R\ O i I (60 B T 6B i K ERAAC

53

10

10

18

(6)  Write short notes on :
5 (Bt fora ¢
(i) Interpolation
(SrErgre)

(i) Null hypothesis
hypothesis.

4 (Sem-2) BUST/G

3x2-6

and alternative

11000



lotal number of printed pages-7
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2014

COMMERCE
(Management Accounting)

Paper : 205(A)
Full Marks @ 80
Time : Three hours

The figures in the margin indicate full marks
Jfor the questions.

Answer all questions.

1. (a) Statec whether the following statements are
True or False : 1X5=5

(i)  Marginal Costing regards only variable
cost ; but fixed cost is trcated as period
cost.

Contd.




(ii) ‘Standard Cost is a predetermined
calculation of how much costs should
be under specified conditions.’

(iii) Budgetary control cannot be applicd in
parts or segments and it 1s a composite
and comprchensive item.

{(iv} is a cost mcasurcd by the
change in cost due to change in output
by aggregate of all units taken together.
(choose the most appropriate option
from : marginal cost, fixed cost, joint
cost) ‘

(v)  Management accounting docs not
embrace prcsenlétion of accountling
information that assist managcment in
its operating activity and undertaking
managerial decisions.

(b} Till in the blank with appropriatc word /
words : %55

(i)  Cost volume profit (CP'V) technique s
based on the assumption that fixed cost,
variable cost and sclling price per unit
are —— for the time pcriod
analysed (choose from : constant;
variable ; semi-variablc)

4 (Sem 2) MNAC/G 2

(i)

All the budgets like production, salcs,
matcrial, labour expenses arc then
integrated to form a single budget is
known as

(iii) Standard cost is a ——— cost
which is calculated from management’s
standards of cfficient operation and the
rclevant necessary expenditure.

(iv) When actual cost 1s greater than
standard cost, then variance is

(v} Llcctronic data processing and rcal
time information sharing can be
facilitated by ———— accounting
systcm.

(c)  Wrilc brict answers to the following in about

50 words each : 2x5=10

(i) State the nature of management'
accounting.

(ii)  Statc thc meaning of marginal cost and
its usc.
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(iii) Discuss the reasons for preparation of

flexible budget.

fiv) How does variance arisc in standard
costing ?

(v)  What is the meaning of budget ?
2. Write short notes on any four of the following :
Sx4
(i) Break cven analysis

(ii} Distinction between standard costing and
' budgetary control

(iii) Assumptions of marginal costing

(ivi Use of accounting information for
management purposc

(v) Usc of budgetary control as a control device

(vi) Variancc analysis in standard costing.

4 (Sem2) MNAC/G 4

3. Trom the following information prepare an Income

Statement under marginal costing : 10
Products
X y

Dircct materials .o, 7,500 33,000

DHEEEE: WRAGEE. s memsrvmrnmonas s 9,000 10,500

Factory overhead :- 5 3,000 3.000

- Variablc ......... 3,900 13,500 -

Selling overhead : - Fixed ............. 1,500 1,500

Variable ......... 2,100 9,000

oLt [ S A, 32,500 77,500
Opcning Stock of finished goods

valued at variable cost .............. 500 500

I'ixed factory overhead and fixed sclling overhead were

appointed to products x and y on equitable bascs.

Or

Describe the managerial application of marginal
costing techniques in various decision-making

darcas.

10

4. Lxplain the dilferent tools and techmiques of

management accounting in arcas of decision-

making.
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Or

Lilaboratc the application of computer and
information technology (CIT) in dissemination of
managerial information in management
accounting. 10

A department of Bankra Green Resort Company
attains sales of Rs. 6,00,000 at 80% of its normal
capacity. Its expenses arc given below

L8 UToT ol e | o o [ —————— Rs. 90,000

General experBes v msemmues 2% of salcs

Depreciation ... e Rs. 7,500

Rent and rates ....oooovvvveeeieieinnnn. Rs. 8,750
Sclling Cost

Travelling cxpenses ....ooecvveeeneen. 10% of salcs

Sales officc expenses ................ 2% of sales

. Distribution cost :

LT T S g e— Rs. 15,000
Rt .. . it s smismmmesessensmms 5% of sales

All fixed expenses are assumcd to remain
unchanged even at 100% capacity.

Draw up Flexible Administration, Selling and
Distribution cost budget, operating at 100% of
normal capacity. , 10
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Or

State the initial steps to be taken for installation
of a budgctary control system. In this context
hrghlight the contents of a budget manual.

FFrom the following particulars of Gor¢chuk Green
Co, compute : (a) material cost variance,
(h) malcrial price variance, (¢) malerial usage
vartance, and state managcerial usc of such

variances. 10
Quantity of materials purchased ....... 3,000 units
Value of materials purchased............. .Rs. 9,000
Standard quality of materials required -—

per ton of output.......c.cooeoeeiii . 25 units
-Standard rate of material ......... Rs. 2-50 per unit
Opening Stock of materials ................... 10 units
Closing Stock of materials................... 510 units
()htput during the period........cc.coeeoe.n, 75 units

Or

State the advantages of standard costing. Discuss
the steps of setting standard costs. 10
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